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001F|HWC1-1 EZJILKRS— bk 6. 06 1 1 1 1 1 el 3
001F|ATMa — 4 — J0—1) 9 14. 39 1 3
002F| [Fi] BIZBR [#40h—Ryb 24.74
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002F| [#e] =& BAILH—Ry b 88. 76
002F| [Fi] MAXEREIEZILKZAIL 103. 15
005F| [#2] BE EZILEKEZAIL 69. 28
002F| [#2] BRE [#4LH—Rv ¢k 41. 80
002F| [#] FEFHFE [54LHh—Rvk 349.02
002F| [Fi] EFHFHBE|EZILEZAIL 14. 11
002F| [l ERTF BAILH—Ry b 29. 20
002F| [Fr] mIEET BAILH—=Ry k 7.50
002F| [Fr] mIEET AAILH—Ry k 7.30
002F| [Fr] NEEBE [54LH—Ry F 37. 40
002F| [Fi] EXRABE2EZILEZAIL 25.70
002F| [Fi] EXRABEIEZILEZAIL 23.90
002F| [Fi] #6.5F |EZILKI—k 12.20
oo2F| [#2] BHE BAAILH—<Ry k 12.20
002F| [Fz] KSK#EMZE|EZILEEZ 1)L 13.10
002F| [Fi] REEBE [81LH—Ry b 70. 74




